Academic Program Evaluation – ANTHROPOLOGY Division – H & S Department - BSS

ANTHROPOLOGY COURSES

					Avg. Class	Avg. Class			PRODUCTIVITY	COMPLETIO	SUCCESS
TERM	Enrollment	Fill Rate	of Section	Mass Cap	Cap	Size	FTES	FTEF	(FTES/FTEF)	N RATES	RATES
Fall 2009	345	107.81%	8	320	40	43.13	35.49	1.6	22.18	82%	69%
Spring 2010	314	112.14%	7	280	40	44.86	32.29	1.4	23.06	81%	67%
Fall 2010	343	122.50%	7	280	40	49	35.27	1.4	25.19	88%	67%
Spring 2011	286	119.17%	6	240	40	47.67	29.42	1.2	24.52	88%	79%
Fall 2011	324	115.71%	7	280	40	46.29	33.33	1.4	23.81	87%	76%
Spring 2012	249	103.75%	6	240	40	41.5	25.62	1.2	21.35	88%	82%
% Change Fall											_
Semesters 09 - 11	-6.09%	7.33%	-12.50%	-12.50%	0.00%	7.33%	-6.09%	-12.50%	7.35%	6%	10%
% Change Spring											
Semesters 10 - 12	-20.70%	-7.48%	-14.29%	-14.29%	0.00%	-7.49%	-20.66%	-14.29%	-7.42%	9%	22%

PROGRAM COMPLETION

Number of certificates completed	Number of Associate Degrees Completed
Between Fall 2009 and Spring 2012	Between Fall 2009 and Spring 2012
	3

ANTHROPOLOGY COURSES - ASSOCIATE DEGREE

Required Courses: ANTH 100, 102, 120, ANTH/AIS 106 Select one course from: AG/ENVS 110, GEOG 100, GEOL 100

Select one course from: ANTH/AIS 108, ART 170, 270, HIST 100, 222, RELS 100

ANTHROPOLOGY COURSES - ENROLLMENT, FILL RATES & WAIT LISTS

	rse									Wait Lists				
	urs		Enrollment - # Sections							1/8/2013				
Course	Cou Cap	F 09	S 10	F 10	S 11	F 11	S 12	F 09	S 10	F 10	S 11	F 11	S 12	S 13
ANTH 100	40	151 - 3	150 - 3	150 - 3	158 - 3	140 - 3	132 - 3	125.8%	125.0%	125.0%	131.7%	116.7%	110.0%	2
ANTH 102	40	177 - 4	160 - 4	161 - 3	128 - 3	143 - 3	85 - 2	110.6%	102.5%	134.2%	106.7%	119.2%	106.2%	15
ANTH/AIS 106	40						32 - 1						80.0%	
ANTH/AIS 108	40		35 - 1						87.5%					
ANTH 120	40	17 - 1		32 - 1		41 - 1		42.5%		80.0%		102.5%		
AG/ENVS 110	30	258 - 8	288 - 9	263 - 9	229 - 8	256 - 8	193 - 7	107.5%	107.08%	97.4%	95.42%	106.7%	97.2%	5
GEOG 100	40	87 - 2	137 - 3	134 - 3	137 - 3	132 - 3	121 - 3	108.8%	114.17%	111.67%	114.17%	115%	100.83%	
GEOL 100	35	83 - 2	56 - 2	64 - 2	54 - 2	46 - 2	45 - 2	115.3%	116.67%	133.33%	112.50%	92%	90%	4
ART 170	18	23 - 1	22 - 1	21 - 1	19 - 1	26 - 1	23 - 1	127.8%	122.2%	116.7%	105.6%	144.4%		6
ART 270	18	23 - 1	22 - 1	26 - 1	18 - 1	17 - 1	19 - 1	127.8%	122.2%	144.4%	100.0%	94.4%		
HIST 100	40	114 - 3	73 - 2	160 - 3	124 - 2	80 - 2	86 - 2	95.0%	91.3%	101.3%	103.3%	100.0%	107.5%	4
HIST 101	40	34 - 1	35 - 1	30 - 1	39 - 1	35 - 1	61 - 1	85.0%	87.5%	79.0%	97.5%	87.5%	76.3%	2
RELS 100	40	73 - 2	55 - 2	70 - 2	74 - 2	67 - 2	75 - 2	91.3%	68.8%	87.5%	92.5%	83.8%	93.8%	2

ANTHROPOLOGY COURSES - PRODUCTIVITY (FTES/FTEF)

	FTES						FTEF					Productivity						
COURSE	F 09	S 10	F 10	S 11	F 11	S 12	F09	S 10	F 10	S 11	F 11	S 12	F09	S 10	F 10	S 11	F 11	S 12
ANTH 100	15.53	15.42	15.42	16.25	14.40	13.58	0.60	0.60	0.60	0.60	0.60	0.60	25.88	25.70	25.70	27.08	24.00	22.63
ANTH 102	18.21	16.87	16.56	13.17	14.71	8.75	0.80	0.80	0.60	0.60	0.60	0.40	22.76	21.09	27.60	21.95	24.52	21.88
ANTH/AIS 106						3.29						0.20						16.45
ANTH/AIS 108		2.47						0.20						12.35				
ANTH 120	0.20		3.29		4.22		0.20		0.20		0.20		1.00		16.45		21.10	
AG/ENVS 110	26.55	29.64	27.05	23.55	26.33	19.85	1.60	1.80	1.80	1.60	1.60	1.40	16.59	16.47	15.03	14.72	16.46	14.18
GEOG 100	8.95	14.1	13.78	14.09	14.19	12.45	0.40	0.60	0.60	0.60	0.60	0.60	22.38	23.50	22.97	23.48	23.65	20.75
GEOL 100	17.07	11.52	13.17	11.11	9.46	9.25	0.81	0.54	0.54	0.54	0.54	0.54	21.07	21.33	24.39	20.57	17.52	17.13
ART 170	3.94	3.77	3.60	3.26	4.46	3.94	0.20	0.20	0.20	0.20	0.20	0.20	19.70	18.85	18.00	16.30	22.30	19.70
ART 270	3.94	3.77	4.46	3.09	2.91	3.26	0.20	0.20	0.20	0.20	0.20	0.20	19.70	18.85	22.30	15.45	14.55	16.30
HIST 100	11.73	7.51	16.45	12.75	8.23	8.84	0.60	0.40	0.60	0.40	0.40	0.40	19.55	18.78	27.42	31.88	20.58	22.10
HIST 101	3.50	3.60	3.09	4.01	3.60	6.27	0.20	0.20	0.20	0.20	0.20	0.20	17.50	18.00	15.45	20.05	18.00	31.35
RELS 100	7.51	5.66	7.20	7.61	6.89	7.71	0.40	0.40	0.40	0.40	0.40	0.40	18.78	14.15	18.00	19.03	17.23	19.28

ANTHROPOLOGY COURSES - COMPLETION & SUCCESS RATES

			Comple	tion Rate	;	Success Rate						
COURSE	F 09	S 10	F 10	S 11	F 11	S 12	F 09	S 10	F 10	S 11	F 11	S 12
ANTH 100	87.0%	88.0%	87.9%	91.1%	92.6%	92.0%	78.7%	79.7%	60.2%	85.5%	78%	85.4%
ANTH 102	77.0%	74.0%	87.4%	83.5%	79.2%	83.4%	58.2%	54.5%	70.4%	70.5%	68%	78.6%
ANTH/AIS 106						81.0%						81.0%
ANTH/AIS 108		71.0%						71.0%				
ANTH 120	88.2%		90.6%		92.7%		88.2%		78.1%		88%	
AG/ENVS 110	89%	89%	87%	87%	94%	86%	66.0%	60.0%	66.0%	58.0%	69%	63.0%
GEOG 100	72%	79%	78%	72%	76%	85%	53.0%	42%	57%	52%	57%	61.0%
GEOL 100	86%	88%	78%	81%	65%	87%	66%	71%	55%	57%	57%	58%
ART 170	87.0%	81.8%	90.5%	73.7%	85.5%	100.0%	89.6%	50.0%	81.0%	68.4%	65%	91.3%
ART 270	91.3%	95.5%	92.3%	83.3%	94.1%	100.0%	65.2%	77.3%	53.9%	66.7%	59%	94.7%
HIST 100	76%	90%	93%	71%	91%	98%	53%	60%	59%	35%	80%	62%
HIST 101	71%	54%	70%	97%	80%	79%	47%	43%	57%	59%	57%	30%
RELS 100	68.0%	60.0%	80.0%	74.0%	73.0%	92.0%	40.0%	51.0%	41.0%	59.0%	63%	68.0%

Recent Enrollment Demand: High X Medium Low Low Low									
Projection for Future Demand : Growing StableX Declining									
Opportunity Analysis: (Successes, new curriculum development, alternative delivery mechanisms, interdisciplinary strategies, etc.)									
Anthropology needs more instructors. Currently there is one full-time and one part-time instructor. We loss two part-time instructors this year and it limits the amount of classes we can offer until there is more staff. It has been difficult to attract instructors in the local area who meet the qualifications. The classroom and instructor's office have moved to the new Science building which appears to be a much better fit.									
One area of concern is the low number of degrees completed since Fall 2009. The total number is 3.									
Offer online options. This can allow us to hire instructors who may not live in the immediate area.									
Continue to assess and revise course materials to maintain relevancy to discipline and a culturally diverse student body									
Realign the program with emerging TMC.									
Summary of Program "Health" Evaluation: (Including consideration of size, score, productivity and quality of outcomes)									

Fill-rates have been exceptional over the last three years. Every semester enrollment has been over 100%, ranging from 103% in Spring of 2012 to 122% in Fall of 2010. This demonstrates the appeal of the program offerings even if students do not select it as a major. We once offered eight courses now it's down to six. Class size in each semester was above the 40 student cap. The completion rate averages around 85% showing a gradual improvement.

Success rates have been low but are improving too, ranging from 69% in F-09 to 82% in Spring of 2012.

Anthropology remains a stable and viable program.

Student Learning Outcomes and Program Learning Outcomes

Student Learning Outcomes Assessment-completion

- All courses have identified SLOs equivalent to their number of units
- SLOs are posted on faculty syllabi
- SLOs are posted on curricunet
- New Chair of Department will monitor the collection, assessments, and posting of SLOs on website

Program Learning Outcomes Assessment

- All courses have identified SLOs equivalent to their number of units
- SLOs are posted on faculty syllabi
- SLOs are posted on curricunet

Success Rate of Student Learning

- Increasing faculty involvement in collecting the data for assessment
- SLOs are standing agenda items
- New Chair of Department will monitor the collection, assessments, and posting of SLOs on website

Need to hire additional instructors to expand offerings.

Resource requests from annual program review

More part-time instructors